SIGNATURE PAGE

RFQ# F-20-2024

To the Board of County Commissioners of the County of Monmouth:

THE UNDERSIGNED HEREBY DECLARES THAT I (WE) HAVE CAREFULLY EXAMINED THE SPECIFICATIONS. I (WE) HEREBY CERTIFY PRICES QUOTED ARE IN ACCORDANCE WITH YOUR REQUIREMENTS.

Company Name:	The Collins Group Inc dba Collins Flags. Com
	(PRINT)
Preparer's Name:	Marsha Williams
Signature:	Marsha Williams 10.5.2023 (DATE)
Address:	1139 S. Baldwin Ave
	Marion, In 4453
Telephone No.:	500-950-4061 ext. 1128
Fax No.:	765-668-4290
E-Mail Address:	procurement Ocollins flogs. com
	(This should be the email where Contracts would be sent)
Contact Person:	Marsha Williams
FEIN:	
(Federal Employee ID)	

RFB must be received no later than:

---- This Is Not An Order ----



October 12, 2023 10:30AM

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

For Delivery to:	Various Delivery Locations. See Details Belo	ow.		
Delivery Date:	1/1/2024-12/31/2024	·		
ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
BUILDINGS & GR	OUNDS (ON-CALL, AS NEEDED)	Park to the second		1,47
	TDOOR UNITED STATES FLAG, NYLON	5 EACH	\$28.08	#140.41
Packagi MFG/Br Product	and: Valley Forge			
2 4' X 6' OU	TDOOR UNITED STATES FLAG, NYLON	20 EACH	*35.87	5717.3a
Packagi MFG/Br Product	and: Valley Forge	· · · · · · · · · · · · · · · · · · ·		
•	TDOOR UNITED STATES FLAG, NYLON WEIGH NO LESS THAN 1.29 LBS.	30 EACH	#55.84	#1,675.20
Packagi MFG/Br Product Variance	and: Valley Forge	<u> </u>		
	TDOOR NEW JERSEY FLAG, NYLON WEIGH NO LESS THAN 9.8 OZ.	3 EACH	#48.50	12.28 [#]
Packagi MFG/Br Product	ing: Polly Bagged and: Valley Forge			

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE TOTAL PRICE
5	4' X 6' OUTDOOR NEW JERSEY FLAG, NYLON	10 EACH	08.2EV# 82.EV#
•	FLAG TO WEIGH NO LESS THAN 13.9 OZ.		
	Packaging: Poly Bagged	_	
	MFG/Brand: Flag Zone Product No: 202220104001	_	
	Product No: Variances, if any:		•
	valiances, it any.	 	
6	5' X 8' OUTDOOR NEW JERSEY FLAG, NYLON	5 EACH	305.ECE #303.30
	FLAG TO WEIGH NO LESS THAN 1.29 LBS.		
	Packaging: Yoly Rogged		
	MFG/Brand: 100 700 8	_	
	Product No: COSSO Variances, if any:	<u> </u>	
		·	
7	3' X 5' OUTDOOR MONMOUTH COUNTY, NEW JERSEY	3 EACH	
	FLAG, NYLON		\$109.07 \$329.02
	CUSTOM COUNTY FLAG DESIGN TO BE PROVIDED IN		\$109.UZ \$329.02
	VECTOR ARTWORK		1
	FLAG TO WEIGH NO LESS THAN 9.8 OZ.		
	Packaging: Poly Paged		<u> </u>
	MFG/Brand: Andrews	<u>_</u>	
	Product No: 235Monmoth		`
	Variances, if any:	······································	
8	4' X 6' OUTDOOR MONMOUTH COUNTY, NEW JERSEY	10 EACH	
•	FLAG, NYLON, SINGLE-SIDE REVERSE	V.	*
	CUSTOM COUNTY FLAG DESIGN TO BE PROVIDED IN		\$137.39 \$1,373.94
	VECTOR ARTWORK		
	FLAG TO WEIGH NO LESS THAN 13.9 OZ. Packaging: Paged		
	Packaging: Poly Pagged MFG/Brand: Poly Pagged		
	Product No: 246Monnosth	_	`
	Variances, if any:		
		1	
	•		
		•	

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
9	5' X 8' OUTDOOR MONMOUTH COUNTY, NEW JERSEY FLAG, NYLON	3 EACH	***	# (IT)
	CUSTOM COUNTY FLAG DESIGN TO BE PROVIDED IN VECTOR ARTWORK		#315.71	\$ C47. 13
	FLAG TO WEIGH NO LESS THAN 1.29 LBS. Packaging: Roly Bagged			·
	MFG/Brand: Annia Product No: 258000000000000000000000000000000000000			
	Variances, if any:	<u></u>		
10	3' X 5' OUTDOOR POW FLAG, NYLON	10 EACH	\$46.10	\$461.00
	FLAG TO WEIGH NO LESS THAN 9.8 OZ.			
	Packaging: Poly Bogged	•		
	MFG/Brand: Edec Product No: 204020103001	_	ţ.	
	Variances, if any:	-		
11	4' X 6' OUTDOOR POW FLAG, NYLON	15 EACH	^ 55. 6み	₩834.3¢
	FLAG TO WEIGH NO LESS THAN 13.9 OZ.	,	-	<u> </u>
	Packaging: Poly Bagged	<u>—</u>		
	MFG/Brand: Eder 204020104001	<u>-</u>	•	
	Variances, if any: Double Sided	<u></u>)
12	5' X 8' OUTDOOR POW FLAG, NYLON	5 EACH	\$\$2.33	\$411.
	FLAG TO WEIGH NO LESS THAN 1.29 LBS.		34.3	'
	Packaging: Poly Bagged			
	MFG/Brand: Floo 2008	_		
	Product No: England School Variances, if any:	_		
13	4' X 6' INDOOR UNITED STATES FLAG, NYLON	10 EACH	#61.64	\$616.40
	FLAG TO WEIGH NO LESS THAN 13.9 OZ.			

--- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: Holy Socard MFG/Brand: Floo Zore Product No: Zoro 10403 Variances, if any:	-		
14	3' X 5' INDOOR UNITED STATES FLAG, NYLON, EMBROIDERED STARS, FLANNEL LINED POLE HEMMING WITH GOLD FRINGE, VELCRO TAB	5 EACH	₹ 55.%3	* a79.15
	FLAG TO WEIGH NO LESS THAN 9.8 OZ. Packaging: Poly Paged MFG/Brand: Flog Zono Product No: Variances, if any:	- - - -		7
15	4' X 6' INDOOR NEW JERSEY FLAG, NYLON FLAG TO WEIGH NO LESS THAN 13.9 OZ. Packaging: MFG/Brand: Product No: Variances, if any:	10 EACH	™ 72.77	שר.רבר#
16	3' X 5' INDOOR NEW JERSEY FLAG, NYLON FLAG TO WEIGH NO LESS THAN 9.8 OZ. Packaging: MFG/Brand: Product No: Variances, if any:	5 EACH	844.70	\$\da3.50
17	4' X 6' INDOOR MONMOUTH COUNTY, NEW JERSEY FLAG, NYLON CUSTOM COUNTY FLAG DESIGN TO BE PROVIDED IN VECTOR ARTWORK FLAG TO WEIGH NO LESS THAN 13.9 OZ. Packaging: MFG/Brand: Product No: Variances, if any:	10 EACH	\$195.47	\$1,954.66

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
18	3' X 5' INDOOR MONMOUTH COUNTY, NEW JERSEY FLAG, NYLON, WITH POLE HEM, TABS AND GOLD FRINGE TRIM	3 EACH	\$154.80	\$4CH.39
	CUSTOM COUNTY FLAG DESIGN TO BE PROVIDED IN VECTOR ARTWORK			
	FLAG TO WEIGH NO LESS THAN 9.8 OZ. Packaging: Poly Paged			
	MEG/Brand: Annin	- ' -		
	Product No: 235000000000000000000000000000000000000	-		
19	4' X 6' INDOOR MODIFIED NYLON POW MIA FLAG, DOUBLE EMBLEM, POLE HEM, TABS AND WHITE FRINGE	5 EACH	#594.16	#470.81
	FLAG TO WEIGH NO LESS THAN 13.9 OZ.			
	MFG/Brand: Eder	- -		
	Product No: 204020104065 Variances, if any: Silver Fringe	- - · 		
20	4' X 6' OUTDOOR KILLED IN ACTION (KIA) FLAG, NYLON BACKGROUND COLOR - RED,	5 EACH		
	EMBLEM AND LETTERING COLOR - BLACK AMERICA REMEMBERS		Lo Big	1 10 RIG
	FLAG TO WEIGH NO LESS THAN 13.9 OZ.			
	Packaging:MFG/Brand:	- -		
	Product No: ———————————————————————————————————	- -		
21	3' X 5' OUTDOOR HONOR AND REMEMBER FLAG,	5 EACH	ln .	*
	NYLON		BLO.75	*503.75
	FLAG TO WEIGH NO LESS THAN 9.8 OZ. Packaging: Poly Packed	_	L	<u></u>
	MFG/Brand: Floa Zone Product No: 216957	_		
	Variances, if any:	- - -		

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: . Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE 1	OTAL PRICE
22	4' X 6' INDOOR NYLON ARMY FLAG WITH POLE HEM, TABS AND FRINGE FLAG TO WEIGH NO LESS THAN 13.9 OZ. Packaging: MFG/Brand: Product No: Variances, if any:	5 EACH	\$75. 2 2	76.10
23	4' X 6' INDOOR NYLON NAVY FLAG WITH POLE HEM, TABS AND FRINGE FLAG TO WEIGH NO LESS THAN 13.9 OZ. Packaging: MFG/Brand: Product No: Variances, if any:	5 EACH	*75.22 *3	276.10
24	4' X 6' INDOOR NYLON AIR FORCE FLAG WITH POLE HEM, TABS AND FRINGE FLAG TO WEIGH NO LESS THAN 13.9 OZ. Packaging: MFG/Brand: Product No: Variances, if any:	5 EACH	*75.2a *3	376.10
25	4' X 6' INDOOR NYLON MARINE FLAG WITH POLE HEM, TABS AND FRINGE FLAG TO WEIGH NO LESS THAN 13.9 OZ. Packaging: MFG/Brand: Product No: Variances, if any:	5 EACH	#75.22 # <u></u>	376.10
26	4' X 6' INDOOR NYLON COAST GUARD FLAG WITH POLE HEM, TABS AND FRINGE FLAG TO WEIGH NO LESS THAN 13.9 OZ.	5 EACH	75.88	576.10

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:	- - - ,		
27	20" X 8' NYLON PULLDOWN, 50 STARS WITH RED AND WHITE STRIPES	10 EACH	\$€. ८ ¢	\$ 273.83.
	Packaging: Poly Pogged MFG/Brand: Eder Product No: 230160045 Variances, if any:	- - -		
28	3' X 6' NYLON FAN BUNTING WITHOUT STARS	10 EACH	540.39	\$402.90
	Packaging: Proceed MFG/Brand: Floo Zone Product No: Variances, if any:	- - - -		
29	4' X 8' NYLON FAN BUNTING WITHOUT STARS	10 EACH	#W1.09	\$610.94
	Packaging: Poly Pogged MFG/Brand: Eder Product No: Variances, if any:	- - -		
30	18' X 36" SEWN STRIPES APPLIQUED STARS PLEATED FAN, POLY-COTTON FAN BUNTING	10 EACH	\$15.63	\$156.33
	Packaging: Poly Bagged MFG/Brand: Product No: Product No: Variances, if any:	- · · · · · · · · · · · · · · · · · · ·		•
31	3" X 6" NYLON MOURNING FAN	10 EACH	#43.20	^{\$} 433.02

County of Monmouth

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-20-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: Poly 300 Poly Poly Poly Poly Poly Poly Poly Poly			
32	20" X 8" NYLON MOURNING PULLDOWN	5 EACH	80.86¢	#140.41
	Packaging: MFG/Brand: Product No: Variances, if any:		L	?
33	ANNIN (#697-461) FLOOR STANDS, LIBERTY, GOLD FINISH	10 EACH	*G2.43	#624:26
	Packaging: MFG/Brand: Product No: Variances, if any:	- - -		
34	SPEAR FLAG TOP, BRASS COLOR	5 EACH	\$47.49	\$137.47
-	Packaging: MFG/Brand: Product No: Variances, if any:			
35	EAGLE FLAG TOP, BRASS COLOR	5 EACH	\$a7.80	#139.00
	Packaging: MFG/Brand: Product No: Variances, if any:	— — —		
36	BRASS SWIVEL SNAP HOOK	5 EACH	\$16.17	\$80.84

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: Poly Baged MFG/Brand: Eder Product No: 2303501ale Variances, if any:			
37	CHROME SWIVEL SNAP HOOK	20 EACH	\$10.50	\$a09.96
	Packaging: Poly Bagged MFG/Brand: Eder Product No: 230350 (2) Variances, if any:			
38	FLAG POLE, 9 FT. LONG, 1-1/4" DIAMETER, DARK OAK, 2 PIECE BRASS COUPLING FOR 4' X 6' INDOOR FLAG	3 EACH	\$100.46	\$301.39
	Packaging: Corrugated Box MFG/Brand: Applio Product No: 281559 100 Variances, if any:			
39 →	FLAG SPREADER, FOR INDOOR FLAG	10 EACH	\$37.82	\$378. ⊋ 0
	Packaging: MFG/Brand: Product No: Variances, if any:	· · ·		
40	EASYKLIP #25202 MINI CLIP 150 LB. CAPACITY 25 PER PACKAGE	10 PKG(S)	NoBid	no Bid
	Packaging: MFG/Brand: Product No: Variances, if any:			,
41	LARGE WINCH HANDLE FOR STAINLESS STEEL WINCHES	10 EACH	ት ሬ3.58	⁸ డికి5.కచ

TOTAL PRICE

REQUEST FOR BID

ITEM#

---- This Is Not An Order --

DESCRIPTION

Carcurated Box



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

UNIT PRICE

Contact: Sophia Amorski

QUANTITY/UNIT

732-431-7370 x7381

FURNISH AND DELIVER FLAGS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024 (MONMOUTH **COUNTY CO-OP)**

Packaging: MFG/Brand: Product No: Variances, if any: VETERAN'S INTERMENT (TO BE DELIVERED IN ONE SHIPMENT PE	- - - R. ITEM SPECIFICATION)		·
42 AMERICAN FLAG - 12" X 18" U.S. FLAG ON 3/8" STAFF: (50) STAR UNITED STATES COTTON FLAG NOT LESS THAN 12" X 18" FINISHED SIZE ON 32 " OVERALL STAFF STAFF TO BE NO LESS THAN 3/8 " THICK. PRINTED ON SOFT COTTON BUNTING, ALL EDGES FINISHED. COLORS MUST BE FAST TO SUN AND RAIN.	43,000 EACH	#1.15	#49, 235.co
FLAG TO BE STAPLED-TACKED TO STAFF ON THREE PLACES. THREAD OF COTTON TO BE AT LEAST 112 PER SQ. INCH. DOWEL AND GOLD FINIAL. STAFF IS TO BE UNPAINTED WOOD ONLY.			
FOR THIS ITEM ONLY, ORDER WILL BE MADE IN ONE LUMP SUM AND MUST BE DELIVERED BY: MARCH 8, 2024 PRODUCT SAMPLE REQUIRED FOR THIS ITEM Packaging: MFG/Brand: Product No: 2013 121035	<u>-</u>		
Product No: 20103141033 Variances, if any:	<u> </u>		

*68,256.53

^{****}SEE ATTACHED ARTWORK OF THE MONMOUTH COUNTY CUSTOM FLAG ARTWORK

^{****}GROUP #1 ITEMS ARE ON-CALL FOR JANUARY 1, 2024 THROUGH DECEMBER 31, 2024 - PRODUCT SAMPLES ARE NOT REQUIRED FOR THIS GROUP

^{****}GROUP #2 ITEM IS TO BE DELIVERED AS A LUMP SUM NO LATER THAN MARCH 8, 2024 - PRODUCT SAMPLE FLAG IS REQUIRED FOR THIS GROUP ONLY

----- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER FLAGS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024 (MONMOUTH **COUNTY CO-OP)**

ITEM#

DESCRIPTION

QUANTITY/UNIT

UNIT PRICE

TOTAL PRICE

Various Delivery Locations:

Buildings & Grounds/Trades Special Services Complex 300 Halls Mill Road Freehold, NJ 07728 Karen Retzer 732-431-7360 x2136

Buildings & Grounds/Trades **Special Services Complex** 300 Halls Mill Road Freehold, NJ 07728 Karen Retzer 732-431-7360 x2136